LT

)

Y

| |
[ |
= o = — "
[o]
= 3¢
o9 -
9 5 5
ITEM NO. Length Tolerance Sticker
(L © ) (g AK 2304 | 1000mm | 20mm | 8716065115987 !
DB 9M(NICKEL PLATED) AR 2305 | 1800mm | 30mm | 8716065115994 DB 9F(NICKEL PLATED)
AK 2307 5000mm 50mm 8716065116014
40mm Change according to the order
AK 230X

NOTE:

2. LENGTH:L

Sub-D 1:1 wired DBOM -
18080.001—***x*x

(LN

X

Ll

DBYF XXM

20mm

STICKER
1. CABLE:NON-UL,28#*9C+1+AL,0D=5.0mm,BEIGE COLOR,PVC JACKET.

3. CONNECTORS: DB9YF * 1PCS,DBOM*1PCS(BLUE INSULATOR,NICKEL PLATED)

4. MOLD:BEIGE MOLDING.
5. SCREW: #4*40 INCH SCREW *4PCS
6. CONTACTS:

DBOM | T 121514 5|6
DBOF |1 (2|34 56

7. OPEN/SHORT TEXT 100% TEXT.
INSULATION: MIN.5M.

HE

9 _|64_
9 |64

RoHS COMPLIANT.

o \ o.o.o.o.o ' o
(@ (0}

Sticker_\

LDPE

MADE IN CHINA

1PCS/PE BAG(0.06*190*300mm)+Sticker

Company [LB.V Goods Code |

ITEM NO.| AK 230X Drawing Evidence :

Goods NO.

Original NO | S-##iior |Unit(mm)-@§-—|£{—

Draw | FC001 WJF |Date

2009.10.14

Check

Date

Approval

Date

ALY

D

C

Revised spell CONTACTS
of NOTE 6.

2011.03.30

B

Changed 30# to 28# /
Adding packaging info

10.03.16WJF

VER. A

REVISE

Date




10000x100mm

| |
I I
(|l B 1MEalle
£y L] O s [1]],)E
CAIR==AS 5|2 |)9
o i == = | 0
DB 9M(NICKEL PLATED) I A40mm Change according to the order DB 9F(NICKEL PLATED)
BEIGE MOLDING AK 2309 BEIGE MOLDING
Sub-D 1:1 wired DBOM - DB9F _40M
18080.001 —*x**x*
A
81 7160651[116038 || AF
Sticker

NOTE:

1. CABLE:NON-UL,26#*9C+1+AL,0D=5.0mm,BEIGE COLOR,PVC JACKET.
2. LENGTH:10000mm

3. CONNECTORS: DBYF * 1PCS,DBOM*1PCS(BLUE INSULATOR,NICKEL PLATED)
4. MOLD:BEIGE MOLDING.

5. SCREW: #4*40 INCH SCREW *4PCS

Sticker
6. CONTACTS: ) ‘
DBOM | 1 |2 |3 |4 |5 |6 /7189 (64 _ °°£Ullﬂi|iﬂ I
DB9F 1121314 |56 |7|81(9 |64 e N/
7. OPEN/SHORT TEXT 100% TEXT. - &
INSULATION: MIN.5M. RoHS COMPLIANT. 1PCS/PE BAG(0.06*190*§OOmm)+Sticker
Company | L.B.V Goods Code | D Date| 2009.10.14 D
ITEM NO.| AK 2309 Drawing Evidence : Y | FO00n Wik e — C if‘ﬁg};pén CONTACTS 2011.03.30
G Check Date l Changed 30# to 26# / )
00ds NO. B | Adding packaging info 10.03.16WJE
Original NO/| S-#ksis Unit(mm)@} —E{— Approval Date VER. A REVISE Date




DBY MALE

o)
o5
<Y
kel

—

uuu

d b

NOTE:

1.CABLE: #26,9C+1+AL/MY,0.0:6.0

32

2. CONNECTOR:DBSM,BLUE

I THUMBSCREW: #4 —40UNC ES2

MNOTE.:

DBSF,BLUE

1.TOTAL LENGTH:L
2.COLOR:BEIGE
J.MOLRDED TYPE

ITEM NO.

L

AK 2508

FU00+100mm

AKZ309

10000+ 100mm

AKZI21

12000+ 100mm

AKZ2322

20000+ 100mm

AKZ323

25000+ 100mm

AKZ2524

J0000£100mm

CONFIGURATION:
DEaM

DATE BY|

REVISION

DB9 FEMALE

5K

oo o
oa

P G

DasF

1

2
3
4
4]
B
i
2
9
S

ALY

THUMBSCREW: #4—40UNC E32

F26,8C+ 1 +AL/MY,0.0-6.0,BEIGE

DEOF,BLUE

CESM,BLUE

-
=]

DESCRIPTION

DRAWN

PARTS MO

NO |AK2308

SCALE

BUYER

KO 002

DBES MALE-DES FEMALE
(MOLDED TYPE)

LRAWN

TG0
1/8

CHECK

AFFRO






